Vicomte
1545 134645

2023-2024



Ref:1545 134645

1 480x28x2.8MM X1 11 16 120X20MM X1 11
2 300x280x15MM X1 11 17 365X250X85MM X1 11
3 300x280x15MM X1 17 18 300X213X3.5MM X2 1
4 230x40x40MM X3 11 19 85X30X25MM X2 11
5 230x40x40MM X1 11 20 220X90X20MM X2 1
6 480x280x25MM X1 17 21 330X180X485MM | X 1 17
7 300X330X50MM X1 11 22 80X80X25MM X1 11
8 570X40X40MM X2 11 23 85X25X25MM X2 1
9 503X40X40MM X2 11 24 380X210MM X1 11
10 130X10MM X4 17 25 85X35X33MM X1 11
1 480X330X25MM X1 11 26 @ 150X50X50MM X1 11
\
12 153X153X40MM X2 17 27 (-l 290X135X10MM X 1 11
\:
/\
13 400X8MM X1 111 28 L7 | a73X32ax35MM | X1 111
9
14 300X8MM X1 11 29 < X 290X100X20MM X1 11
15 80X80X26MM X1 11




Ref:1545 134645

([ M6X12 MM X 28 1n F (o M5X15 MM X6 11

(o )| wmsx10mMm X4 11 G (8 M6X35 MM X4 11
oY ms X2 i H = © M6X12 MM X1 17
o @ M6X18 MM X1 11 I (= MBX70 MM X2 17
MGX35 MM X4 11 J V/ 6X40 MM X3 1n

FR : SAV/INFORMATION /VIDEO/CONTACT
EN: AFTER-SALES SERVICE/INFORMATION/VIDEO/CONTACT
DE : REPARATUR-SERVICE UND ERSATZTEILE /INFORMATIONEN /VIDEO/KONTAKT

ES: SERVICIO POST-VENTA/INFORMACI N/VIDEO/CONTACTO

IT: SERVIZIO ASSISTENZA/INFORMAZIONI/VIDEO/CONTATTO _

PT: SERVICO P S-VENDA/INFORMAGOES/VIDEO/CONTATO
PL: SERWIS TECHNICZNY/INFORMACJE/WIDEO/KONTAKT
NE: AFTER SALES SERVICE/INFORMATIE/VIDEO/CONTACT

HE: 2xnY wrAim mayun/nTy /e Ri/npwn yo




Ref:1545_134645

Step 1

A o MoX12 8PCS

Step 2

A M6X12 12PCS
= =0 w M5X10 2PCS



Ref:1545_134645

Step 3

A = M6X12 4PCS

Step 4

2 PCS

C M8 ®



Ref:1545_134645

Step 6

29

= MoX70 2PC

I



Ref:1545_134645

A B= )6X12 4PCS

L2z >

i



Ref:1545_134645

Step 9

Step 10




Ref:1545 134645

Step 11

G & © MoX35  4PCS

Step 12




Ref:1545 134645

Step 13

F MoX15 2PCS

Step 14

F MoX15  2PCS



Ref:1545 134645

Step 15

Step 16




